ik yayin tarihi: 21.07.2017

www.guven.kutay.ch

14.07.2017

aq:=740-mm

Ly:=eg+ 2-C4

E := 210000-MPa

Ly—a;—-c
o e F(1L—11)
(31 + C1)

€g:= 3720-mm

h-0=2700-mm

L4 = 6457-mm

4

Jy = 51.459.10%.mm

My
M, 5‘193
I
S102 4 8104
— M
T 1\/[01 04
d101
Fe

M.Giiven KUTAY/43_01_01_PV_320kN_

0:= 7760-mm

Cq1:= 0~tan((xAy1)

h:= 10460-mm

cq= 1368-mm

Fi = 322-kN
o= Jq J, = 51.459-10%. mm*
Fp=216.9-kN
Fc=105.1-kN
0=7760-mm S = 7879.7-mm
M,
M,,=-h n M,;=-h
AMU\/S\/AMB
= 113 —
S112 E_ _; A1
— =-0 M =-0 \—]
81, — M 14 181
Q=1 Q=1

1/4



ik yayin tarihi: 21.07.2017

d10
X1=HD=H X1=——
11

M01 = FC'C1

Moz := Fc-Cq

www.guven.kutay.ch

My = Fyy-aq My = 238.3m-kN
Moq = 143.9m kN Myq = -0
Moz = 143.9m -kN My = —h

M11 =-7.8m

Mip =-10.5m
AMyp, = —2.7m

AMp = -2.7m

Mq3=-10.5m
M4 =-7.8m

AM3=-27m
AMy3, = -2.7m

6101 =-0.271m

6102a =-0.049m

6102b =-0.279m

6102 =-0.327m

M03 = FH'a1 + FD'C1 M03: 535m kN AM122: —(h—O)
AM03 = FH'a1 + FD'C1 — FC'C1 AM03: 391.1m kN M13.: —h
Mog := Fy-aq + Fp-Cq Mog = 535m -kN Miq:= -0
AM13 = —(h — 0)
AMy35:= M43 — Myy
$1
1
o 8101 = Mgq-Mqq-—— dx
101 W W 101 0111 E-J,
0
6-1MM > 5,_1,:0031
101 = 5 Mot Mg £, 101= 5 FeCs EJ,
6102 3102 = d102a + d102b
h-o
1
o) = Mg -AMyy-——
81022 [IRIRRARNARNNNY| I 1022 o1 12 E.J1OIX
0
51pa = - Mog-AMp 2 5 '—1Fc[(h o)]h_
102a = 7 Mot 12 £, 102a°= 2 C1 £,
h-o
1
o) o) = Mqg1-M4q-
102b [IRIRRARNARNNNY| [IRIRRARNARNNNY| 1020 01" E.J1dx
0
1025 = Moq- Mg 2—2 5 '—Fc(—o)h_o
102b o01-My4 £, 102b = Fc-Cq £,
Fc-cq:-(h—0)-(h+ 0)
0400 = 0 + 0 8100 = —
102 = 0102a + 0102 102 2E .,
6103 103 = 9103a + 9103b
%0 1
o) o) = AMpz-M4o-
103a =S| LTI T 103a 03" V12 E.szx
0

84032 = ! AMy3-M %0
1032~ 7% 03 V12 E-J,

M.Giiven KUTAY/43_01_01_PV_320kN_

1032 = [FH'31 + C1'(FD - FC)]'(—h)' 2Ed,
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